4 21
D3 @ axs @"
@®)0.7958243 ® 0.37

34

0.37 = 0.3777- - -

~ 90




LA asz Gehiy feash D ), A o & 5 8 Al

@ 3 @ 7 ® 14 @ 16 @21

1 1
AT axaxT
1= 21 9] w50l ofof Tk,
webA 74 A AAsE 21 olet.

XA O|HE 3 I 7 & R 5 O A




Rl e
o
O Tt
1o
>
rioy
o
=
i
i
N
N
N
N

A a, b ek, at b9 B Fotolel,

iy

5 5
— =0.416
12 ’

a=6,b=5,a+b=11

=05

©| ot




5 os o)
the F &8aso] BHOR 28 AL BE VEH?

@D 0.30404--- = 0.304 @1.203203 cee=1.203

3 2.2020--- = 2.202 @ 0.44141--- = 0.441

@1.477--- =147




% a9l 3ol B 5 Sk A2

©
=

A, o

@5 @)6 &)7

@ 4

N
X

5.9] 75770 25t o] Fo]7]

Bl

=
—

712 &
57} agtol

2
4,




®

29
50

@

45
30

©)

21
45

@




é%%iéiqﬂﬂﬁ%ﬂiéﬂlﬂ%%¢§11%%ﬂqw

7t 7P 2F2 gt Ao AAed W, a + b 9] G227

@9 @ 10 311 @ 12 ® 13
L = %l getadeolaiw o = 3 9] wjolojok 5l 71
24 23x3
ﬂﬂﬂﬂﬂﬂﬂﬂ#ﬂﬂi3ﬂqmi=—i—=l=1
A 24 22x3 23 8

o|B& p =38 ot}
w2t a+b=3+8 =11 o[t}




8. T2 &84t &8459] A5 ot 50 A ZF2]o] =2
Uetd o2 &2 729
D 0.17,1 ® 0.53,5 ® 0.203,2
@—3.129,2 ® 2.743 .7

B ~
D50-1=1x49°|2&2 7

@50 =2x250|22 3

®50=3x16+2°]B2 0

@D50-1=2x24+10|B2 2

®50-2=1x48 3




9. x=26666---< M, 10x — x| F2?

D 0.26 @ 2.6 ® 24 @24 ® 26.66

102 F5HH 10x = 26.6666 - - -
x = 2.6666--- 0] B2
10x — x = 24 0]t}




10.

x =238 o]} & ], 100x — x 9] g+ Fatolz}
=t

>
> =g 236

100x — x = 238 — 2 = 236 ©|t}.




11. oh& % FolA 1o 7Phe o2 2 5129

@ 1.1 © 1.0i ® 1.01 ® 1.01

PO->0-®->6 ©@O0-0-50-0
@@->9-20-0 @®9-6-0-1©
®e-e-0-0

~&B

@ 11111 ---

© 1.0111---

© 1.010101 - -

@ 1.01

. ® > ©® - © - O eA°lt




12. 0.6 9 ¥ 5 0 E FsFAEY 2.6 o] =AUt a 9] g F-5kod2t
> £
> &

o
e

~&B

0.6xa=26
L.
9 9

La=4




i

.« a _a
T 2x3x7 180 22x32x5
a = A A2lel 32 x 7 = 63 2] Hjo|ojolst R 2 126




14. o

, =gt 1 74

I
o

= 0.571428 , &=t 6 7

=0.16 , &gt 1 7}

Osl»—l \}I»& w| N

=0.36, =gt 2 A

® ® @ ® Q
oo 51~

= =0.27 , <=3t 2 7Y
kA =gt 47t 7P B2 A2 OOl




<

® 0.50

@ 0.49

@0.49

@ 0.5

D 0.45

‘ ® 0.49

45
90

49 -4
90




16.

A4 0.543 = x

i
e

T2 o, 29

>
et

@ 10x-x @ 100x — x
@ 1000x — x (@)1000x —10x

e

® 100x — 10x

2 ofgiHZo] ZoA =R 10 o] 754
543.434343 --- T} 5.434343 - --
IHE2 1000x — 10x

o =
= Fetrt.




i
=
I

st 51 2pE] 2FedZ ¢ 9] ZHe mE Lofola).

v Vv v Vv
0
i

0
L
o

2 2 .
5<0.a<§—>0.4<0.a<0.6




18. x=06 % . 1+§ o] gre 5tela}

Ck
[=

>
> &g 25

oHd




7RG 4 B SBASE Lehhid], S0l BAHE R HopA
41 ©

o] 0.41 o] HA1, SHlo]l= BrE 25 "ol o] 0.31 o] H<
o}. ol o, 7lekES A% FotH?
31 37 31 32 37
Do %% Q% D5 9%
37
2] 04] = 28,
© 90
31
Zul: 03l ==
© 99

w2tA] A0 7| oFit =
(o7 E &2 31
(A7t 2 EH) ~ 90

— A o]tk




20. E]'E—gas ]%‘1.‘_(3_7_]%?

A

@ 0.9:1

116
@ 0.234 =

" 495
©) o e

m ~— I
@ 0.250250250 -

o

A4E e
- =0.250

® 02134 o] ohelE 34 ol

4
©) 3

2
e

o]
AR

.

33

N ojlmg
2x3x5x7  22x5x7 ]
.




